Biology: Concepts and Connections, 6e (Campbell) 

Chapter 1   


Introduction: The Scientific Study of Life

Art Questions

1) 
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Which level in the hierarchy shown is a community? 

A) 


level A 

B) 


level B 

C) 


level C 

D) 


level D 

E) 


level E 

Answer:  


C 

Topic:  


1.1 

Skill:  


Factual Recall 

2) 
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Which of the following organisms belongs to the group represented in Box 1? 

A) 


giraffe 

B) 


earthworm 

C) 


tree 

D) 


decomposing bacteria 

E) 


leopard 

Answer:  


C 

Topic:  


1.2 

Skill:  


Application 

Scenario Questions

After reading the following paragraph, answer the question(s) below.
The National Institutes of Health (NIH) set up a study to determine whether large doses of vitamin C would shorten the length of time it takes to recover from a cold. Three thousand volunteers were split into two groups. For two weeks, members of Group A took 3,000 mg of vitamin C daily. Group B received 3,000 mg of a placebo. At the end of the two-week period, the researchers inserted live cold viruses directly into the noses of all the volunteers. The volunteers in both Group A and B continued to take their daily pills. All the volunteers got colds, and there was no significant difference in the length of time the colds lasted.

1) 


Which was the experimental group? 

A) 


Group A only 

B) 


Group B only 

C) 


all 3,000 volunteers 

D) 


half of Group A and half of group B 

E) 


the researchers that inserted the cold virus 

Answer:  


A 

Topic:  


1.7, 1.8 

Skill:  


Conceptual Understanding

2) 


To have confidence that the results of the experiment were valid, you'd also want to know 

A) 


the genders of the volunteers. 

B) 


whether any volunteers had colds at the start of the experiment. 

C) 


whether the volunteers exercised daily. 

D) 


whether the volunteers all worked for the same company. 

E) 


what the volunteers ate during the experiment. 

Answer:  


B 

Topic:  


1.7, 1.8 
Skill:  Application

Biology: Concepts and Connections, 6e (Campbell) 

Chapter 2   


The Chemical Basis of Life

Art Questions

2) 
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The hydrogen bonds shown in this figure are each 

A) 


between two hydrogen atoms. 

B) 


between two oxygen atoms. 

C) 


between an oxygen and a hydrogen atom of the same water molecule. 

D) 


between an oxygen and a hydrogen atom of different water molecules. 

E) 


between two atoms with the same charge. 

Answer:  


D 

Topic:  


2.10 

Skill:  


Application

Scenario Questions

After reading the following paragraph, answer the question(s) below.

You've been experiencing acid indigestion lately, and you'd like a quick fix for the problem. You do a little research on the Internet and discover that your problem is caused by excess stomach acid. In the pharmacy aisles, however, you're having a little trouble deciding what to purchase to address the problem. At the pharmacy counter, the clerk recommends that you purchase Pepcid-AC® or Alka-Seltzer® tablets.

1) 


If you could check the pH of the recommended tablets, you would expect it to be 

A) 


higher than 7. 

B) 


lower than 7. 

C) 


exactly 7. 

D) 


pH neutral. 

E) 


either C or D. 

Answer:  


A 

Topic:  


2.15 

Skill:  


Conceptual Understanding 

2) 


If you were able to chemically analyze your stomach fluids 30 minutes after taking two tablets, you would find 

A) 


more hydrogen ions. 

B) 


fewer hydrogen ions. 

C) 


the same number of hydrogen ions. 

D) 


that the pH in your stomach has decreased. 

E) 


a greater number of covalent bonds. 

Answer:  


B 

Topic:  


2.15 

Skill:  Application

Biology: Concepts and Connections, 6e (Campbell) 

Chapter 3   


The Molecules of Cells

Art Questions

1) 
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These two molecules are structural isomers. What is the difference between them? 

A) 


the number of carbon atoms 

B) 


the number of oxygen atoms 

C) 


the number of hydrogen atoms 

D) 


the location of a double-bonded oxygen atom 

E) 


Only one of them has a double bond between carbon atoms. 

Answer:  


D 

Topic:  


3.1, 3.4 

Skill:  


Application 

2) 
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How are these two amino acids attached together? 

A) 


amino group to amino group 

B) 


amino group to carboxylic acid group 

C) 


carboxylic acid group to carboxylic acid group 

D) 


carbon atom to carbon atom 

E) 


through a hydrolysis reaction 

Answer:  


B 

Topic:  


3.12 

Skill:  


Application

Scenario Questions

After reading the following paragraph, answer the question(s) below.

You're the manager of a factory that produces enzyme-washed blue jeans (the enzymes lighten the color of the denim, giving a "faded" appearance). When the most recent batch of fabric came out of the enzyme wash, however, the color wasn't light enough to meet your standards. Your quality control laboratory wants to do some tests to determine why the wash enzymes didn't perform as expected.

1) 


Which hypothesis is most likely to be productive for their initial investigation? 

A) 


The nucleotide chain of the enzymes may be incorrectly formed. 

B) 


The dye in the fabric may have hydrolyzed the fatty acids in the enzymes. 

C) 


The polysaccharides in the enzymes may have separated in the wash water. 

D) 


The three-dimensional structure of the proteins may have been altered. 

E) 


There may not have been enough phospholipids for the volume of fabric. 

Answer:  


D 

Topic:  


3.13 

Skill:  


Factual Recall

2) 


Based on your understanding of enzyme structure, which of the following would you recommend that they also investigate? 

A) 


the temperature of the liquid in the washing vat 

B) 


the pH of the liquid in the washing vat 

C) 


the manufacturer of the fabric 

D) 


how long the fabric has been in storage 

E) 


the primary structure of the enzyme 

Answer:  


A 

Topic:  
3.13 

Skill:  conceptual understanding 

Biology: Concepts and Connections, 6e (Campbell) 

Chapter 4   


A Tour of the Cell

Art Questions

1) 
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According to this figure, which of the following is large enough to see in the light microscope? 

A) 


atoms 

B) 


proteins 

C) 


ribosome 

D) 


viruses 

E) 


mitochondria 

Answer:  


E 

Topic:  


4.2 

Skill:  


Application 

2) 
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Which part of the mitochondrion shown is its matrix? 

A) 


structure A 

B) 


structure B 

C) 


structure C 

D) 


structure D 

E) 


structure E 

Answer:  


E 

Topic:  


4.14 

Skill:  


Factual Recall

Scenario Questions

After reading the following paragraph, answer the question(s) below.

The skin is the body's largest organ. It's made up of many different types of cells. Oils, produced by the sebaceous glands, prevent the skin from drying and splitting. The protein melanin, produced by melanocytes in the epidermis, protects the skin from the harmful effects of ultraviolet radiation. Sweat, released through ducts to the skin surface, helps to cool the body. The types of cells that produce these compounds have different numbers of specific organelles, depending on their function.

1) 


Based on their function, you would expect melanocytes in the skin to have a higher than usual number of 

A) 


lysosomes. 

B) 


chloroplasts. 

C) 


ribosomes. 

D) 


Golgi bodies. 

E) 


microtubules. 

Answer:  


A 

Topic:  


4.7, 4.9 

Skill:  


Conceptual Understanding 

2) 


The oil from the sebaceous glands is produced by which of the following cell organelles? 

A) 


ribosomes 

B) 


rough endoplasmic reticulum 

C) 


cell membrane 

D) 


smooth endoplasmic reticulum 

E) 


central vacuole 

Answer:  


D 

Topic:  
4.9
Skill: Factual Recall
Biology: Concepts and Connections, 6e (Campbell) 

Chapter 20   


Unifying Concepts of Animal Structure and Function

Art Questions

1) 
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Which part of this figure shows a complete organ system? 

A) 


part A 

B) 


part B 

C) 


part C 

D) 


part D 

E) 


part E 

Answer:  


D 

Topic:  


20.1 

Skill:  


Application 

2) 
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Which type of epithelial tissue shown is a stratified tissue? 

A) 


tissue A 

B) 


tissue B 

C) 


tissue C 

D) 


tissue D 

E) 


tissue E 

Answer:  


E 

Topic:  

20.4 

Skill: Application

Biology: Concepts and Connections, 6e (Campbell) 

Chapter 31   


Plant Structure, Reproduction, and Development

Art Questions

1) 
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Which part of this root tip is the apical meristem? 

A) 


part A 

B) 


part B 

C) 


part C 

D) 


part D 

E) 


part E 

Answer:  


D 

Topic:  


31.7 

Skill:  


Factual Recall

3

